

also $x = \frac{\alpha}{\sqrt{2}} (a^\dagger + a)$, $p = \frac{i\hbar}{\alpha\sqrt{2}} (a^\dagger - a)$ $aa^\dagger = a^\dagger a + 1$

$\langle n | x | n \rangle = \langle n | \frac{\alpha}{\sqrt{2}} (a^\dagger + a) | n \rangle = \frac{\alpha}{\sqrt{2}} [\langle n | \sqrt{n+1} | n+1 \rangle + \langle n | \sqrt{n} | n-1 \rangle]$
 $\langle n | p | n \rangle = 0$

$p^2 = \left[\frac{i\hbar}{\alpha\sqrt{2}} (a^\dagger - a) \right]^2 = -\frac{\hbar^2}{2\alpha^2} (a^\dagger - a)(a^\dagger - a)$
 $= -\frac{\hbar^2}{2\alpha^2} (a^{\dagger 2} + a^2 - a a^\dagger - a^\dagger a) = -\frac{\hbar^2}{2\alpha^2} (a^{\dagger 2} + a^2 - 2a^\dagger a - 1)$

$\langle n | -\frac{\hbar^2}{2\alpha^2} (a^{\dagger 2} + a^2 - 2a^\dagger a - 1) | n \rangle = \langle n | \frac{\hbar^2}{2\alpha^2} (2a^\dagger a + 1) | n \rangle$
 $= \frac{\hbar^2}{2\alpha^2} [2n + 1]$

$x^2 = \frac{\alpha^2}{2} [a^\dagger + a]^2 = \frac{\alpha^2}{2} [a^\dagger a + a a^\dagger + a^{\dagger 2} + a^2] =$
 $= \frac{\alpha^2}{2} [a^{\dagger 2} + a^2 + 2a^\dagger a + 1]$

$\langle n | x^2 | n \rangle = \frac{\alpha^2}{2} [0 + 0 + 2n + 1]$

1.2. $p^2 | n \rangle = -\frac{\hbar^2}{2\alpha^2} (a^{\dagger 2} + a^2 - 2a^\dagger a - 1) | n \rangle$

$= -\frac{\hbar^2}{2\alpha^2} [a^{\dagger 2} | n \rangle + a^2 | n \rangle - 2a^\dagger a | n \rangle - | n \rangle]$

$= -\frac{\hbar^2}{2\alpha^2} [\sqrt{n+1}\sqrt{n+2} | n+2 \rangle + \sqrt{n}\sqrt{n-1} | n-2 \rangle - 2n | n \rangle - | n \rangle]$

$\langle n | p^2 | n \rangle = -\frac{\hbar^2}{2\alpha^2} [0 + 0 - 2n \langle n | n \rangle - \langle n | n \rangle]$

$= \frac{\hbar^2}{2\alpha^2} [2n + 1]$

1.3

$H = \frac{\hat{p}^2}{2m} + \frac{1}{2} m \omega^2 \hat{x}^2 = -\frac{\hbar^2}{2\alpha^2 m} (a^{\dagger 2} + a^2 - 2a^\dagger a - 1) + \frac{1}{2} m \omega^2 \frac{\alpha^2}{2} [a^{\dagger 2} + a^2 + 2a^\dagger a + 1]$
 $= -\frac{\hbar^2}{4m} \frac{1}{\hbar} (a^{\dagger 2} + a^2 - 2a^\dagger a - 1) + \frac{1}{4} m \omega^2 \frac{\hbar}{m \omega} [a^{\dagger 2} + a^2 + 2a^\dagger a + 1]$
 $= -\frac{\hbar \omega}{4} (a^{\dagger 2} + a^2 - 2a^\dagger a - 1) + \frac{1}{4} \hbar \omega [a^{\dagger 2} + a^2 + 2a^\dagger a + 1] = \frac{\hbar \omega}{2} (2a^\dagger a + 1)$

2.1

$$\langle m | a | n \rangle = \langle m | \sqrt{n} | n-1 \rangle = \sqrt{n} \delta_{m, n-1}$$

$$\langle m | a^\dagger | n \rangle = \langle m | \sqrt{n+1} | n+1 \rangle = \sqrt{n+1} \delta_{m, n+1}$$

$$Q = \begin{matrix} & 0 & 1 & 2 & 3 \\ \begin{matrix} 0 \\ 1 \\ 2 \end{matrix} & \begin{pmatrix} 0 & 1 & 0 & 0 \\ 0 & 0 & \sqrt{2} & 0 \\ 0 & 0 & 0 & \sqrt{3} \end{pmatrix} \end{matrix}$$

$$Q^\dagger = \begin{matrix} & 0 & 1 & 2 \\ \begin{matrix} 0 \\ 1 \\ 2 \\ 3 \end{matrix} & \begin{pmatrix} 0 & 0 & 0 \\ \sqrt{1} & 0 & 0 \\ 0 & \sqrt{2} & 0 \\ 0 & 0 & \sqrt{3} \end{pmatrix} \end{matrix}$$

2.2.

$$Q Q^\dagger - Q^\dagger Q = 1$$

$$Q Q^\dagger = \begin{pmatrix} 0 & 1 & 0 & 0 \\ 0 & 0 & \sqrt{2} & 0 \\ 0 & 0 & 0 & \sqrt{3} \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 1 & 0 & 0 \\ 0 & \sqrt{2} & 0 \\ 0 & 0 & \sqrt{3} \end{pmatrix} = \begin{pmatrix} 1 & & & \\ & 2 & & \\ & & 3 & \\ & & & \ddots \end{pmatrix}$$

$$Q^\dagger Q = \begin{pmatrix} 0 & 0 & 0 \\ 1 & 0 & 0 \\ 0 & \sqrt{2} & 0 \\ 0 & 0 & \sqrt{3} \end{pmatrix} \begin{pmatrix} 0 & 1 & 0 & 0 \\ 0 & 0 & \sqrt{2} & 0 \\ 0 & 0 & 0 & \sqrt{3} \end{pmatrix} = \begin{pmatrix} 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 2 & 0 \\ 0 & 0 & 0 & 3 \end{pmatrix}$$

$$Q Q^\dagger - Q^\dagger Q = \begin{pmatrix} 1 & & & \\ & 2 & & \\ & & 3 & \\ & & & \ddots \end{pmatrix} - \begin{pmatrix} 0 & & & \\ & 1 & & \\ & & 2 & \\ & & & 3 \end{pmatrix} = \begin{pmatrix} 1 & & & \\ & 1 & & \\ & & 1 & \\ & & & \ddots \end{pmatrix} = \mathbb{1}$$

2.3

$$\# = \frac{d}{\sqrt{2}} (Q^\dagger + Q) = \frac{d}{\sqrt{2}} \begin{pmatrix} 0 & 1 & 0 & 0 \\ 1 & 0 & \sqrt{2} & 0 \\ 0 & \sqrt{2} & 0 & \sqrt{3} \\ 0 & 0 & \sqrt{3} & 0 \end{pmatrix}$$

$$\#^2 = \frac{d^2}{2} \begin{pmatrix} 1 & 0 & \sqrt{2} & 0 \\ 0 & 3 & 0 & 0 \\ \sqrt{2} & 0 & 5 & 0 \\ 0 & \sqrt{6} & 0 & 3 \end{pmatrix}$$

$$\# = \frac{i\hbar}{d\sqrt{2}} (Q^\dagger - Q) = \frac{i\hbar}{d\sqrt{2}} \begin{pmatrix} 0 & -1 & 0 & 0 \\ 1 & 0 & -\sqrt{2} & 0 \\ 0 & \sqrt{2} & 0 & -\sqrt{3} \\ 0 & 0 & \sqrt{3} & 0 \end{pmatrix}$$

$$\#^2 = -\frac{\hbar^2}{d^2} \begin{pmatrix} -1 & 0 & \sqrt{2} & 0 \\ 0 & -3 & 0 & \sqrt{6} \\ \sqrt{2} & 0 & -5 & 0 \\ 0 & -\sqrt{6} & 0 & -3 \end{pmatrix}$$

$$= \frac{\hbar^2}{2d^2} \begin{pmatrix} 1 & 0 & -\sqrt{2} & 0 \\ 0 & 3 & 0 & -\sqrt{6} \\ -\sqrt{2} & 0 & 5 & 0 \\ 0 & -\sqrt{6} & 0 & 3 \end{pmatrix}$$

2.4

$$H = \frac{p^2}{2m} + \frac{1}{2} m \omega^2 x^2$$

$$= \frac{\hbar\omega}{4} \begin{pmatrix} 1 & 0 & -\sqrt{2} & 0 \\ 0 & 3 & 0 & -\sqrt{6} \\ -\sqrt{2} & 0 & 5 & 0 \\ 0 & -\sqrt{6} & 0 & 7 \end{pmatrix} + \frac{\hbar\omega}{4} \begin{pmatrix} 1 & 0 & \sqrt{2} & 0 \\ 0 & 3 & 0 & \sqrt{6} \\ \sqrt{2} & 0 & 5 & 0 \\ 0 & \sqrt{6} & 0 & 7 \end{pmatrix} = \frac{\hbar\omega}{2} \begin{pmatrix} 1 & & & \\ & 3 & & \\ & & 5 & \\ & & & 7 \end{pmatrix}$$

$$X^3 = X^2 \cdot X = \frac{d^3}{2\sqrt{2}} \begin{pmatrix} 1 & 0 & \sqrt{2} & 0 \\ 0 & 3 & 0 & \sqrt{6} \\ \sqrt{2} & 0 & 5 & 0 \\ 0 & \sqrt{6} & 0 & 7 \end{pmatrix} \cdot \begin{pmatrix} 0 & 1 & 0 & 0 \\ 1 & 0 & \sqrt{2} & 0 \\ 0 & \sqrt{2} & 0 & \sqrt{2} \\ 0 & 0 & \sqrt{3} & 0 \end{pmatrix}$$

$$= \frac{d^3}{2\sqrt{2}} \begin{pmatrix} 0 & 3 & 0 & \sqrt{6} & 0 \\ 3 & 0 & 6\sqrt{2} & 0 & 0 \\ 0 & 6\sqrt{2} & 0 & 3\sqrt{3} & 0 \\ \sqrt{6} & 0 & 3\sqrt{3} & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 \end{pmatrix}$$

3.1

$|n\rangle \sim \psi_n(x)$, i.e. $E_n = \hbar\omega(n + \frac{1}{2})$

$$\psi_n(x, t) = \psi_n(x, 0) e^{-i\hbar\omega(n + \frac{1}{2})t/\hbar} = \psi_n(x, 0) e^{-i\omega t(n + \frac{1}{2})}$$

$$\langle x \rangle = \int_{-\infty}^{\infty} \psi_n^*(x, 0) e^{+i\omega t(n + \frac{1}{2})} \cdot x \cdot \psi_n(x, 0) e^{-i\omega t(n + \frac{1}{2})} dx$$

$$= \int_{-\infty}^{\infty} \psi_n^*(x, 0) \cdot x \cdot \psi_n(x, 0) dx = \langle x \rangle$$

3.2. $|4\rangle = \frac{1}{\sqrt{2}} (|4\rangle + |1\rangle)$

$$= \frac{1}{\sqrt{2}} \left(\frac{1}{\sqrt{2\sqrt{\pi}}} e^{-\frac{x^2}{2d^2}} + \sqrt{\frac{2}{d\sqrt{\pi}}} \frac{x}{d} e^{-\frac{x^2}{2d^2}} \right) = \frac{1}{\sqrt{2}} \frac{1}{\sqrt{2\sqrt{\pi}}} \left(1 + \frac{\sqrt{2}x}{d} \right) e^{-\frac{x^2}{2d^2}}$$

$$\psi(x, t) = \frac{1}{\sqrt{2}} \frac{1}{\sqrt{2\sqrt{\pi}}} \left(e^{-i\omega t/2} + \frac{\sqrt{2}x}{d} e^{3i\omega t/2} \right) e^{-\frac{x^2}{2d^2}}$$

$$\langle x \rangle = \int_{-\infty}^{\infty} \psi^*(x, t) \cdot x \cdot \psi(x, t) dx = \frac{1}{2} \frac{1}{\sqrt{2\sqrt{\pi}}} \int_{-\infty}^{\infty} e^{-\frac{x^2}{2d^2}} \left(e^{i\omega t/2} + \frac{\sqrt{2}x}{d} e^{3i\omega t/2} \right) \cdot x \left(e^{-i\omega t/2} + \frac{\sqrt{2}x}{d} e^{-3i\omega t/2} \right) dx$$

$$= \frac{1}{2} \frac{1}{\sqrt{2\sqrt{\pi}}} \int_{-\infty}^{\infty} e^{-\frac{x^2}{2d^2}} e^{i\omega t/2} x^2 \frac{\sqrt{2}}{d} e^{-3i\omega t/2} + e^{-\frac{x^2}{2d^2}} \frac{\sqrt{2}x^2}{d} e^{3i\omega t/2} e^{-i\omega t/2} dx$$

$$= \frac{1}{2} \frac{1}{\sqrt{2\sqrt{\pi}}} \left[\int_{-\infty}^{\infty} e^{-\frac{x^2}{2d^2}} e^{-i\omega t} x^2 \frac{\sqrt{2}}{d} dx + \int_{-\infty}^{\infty} e^{-\frac{x^2}{2d^2}} e^{i\omega t} x^2 \frac{\sqrt{2}}{d} dx \right]$$

$$= \frac{1}{2} \frac{1}{\sqrt{2\sqrt{\pi}}} \frac{\sqrt{2}}{d} \left[e^{-i\omega t} \frac{d^2}{2} \sqrt{2\sqrt{\pi}} + e^{i\omega t} \frac{d^2}{2} \sqrt{2\sqrt{\pi}} \right] =$$

$$= \frac{1}{2} \frac{\sqrt{2}}{d} \frac{d^2}{2} \left[e^{-i\omega t} + e^{i\omega t} \right] = \frac{d^2}{2\sqrt{2}d} = \frac{d}{\sqrt{2}} \cos(\omega t)$$

$$3.2 \quad |\psi\rangle = \frac{1}{\sqrt{2}} (|0\rangle + |1\rangle)$$

ÜKM-2023T

$$|\psi\rangle(t) = \frac{1}{\sqrt{2}} (|0\rangle e^{-i\omega t/2} + |1\rangle e^{-3i\omega t/2}) \quad \frac{1}{\sqrt{2}}(a^\dagger) \quad 11.4 - 4$$

$$\langle \psi | \psi \rangle(t) = \frac{1}{2} \left[\langle 0 | e^{i\omega t/2} + \langle 1 | e^{3i\omega t/2} \right] \times \left[|0\rangle e^{-i\omega t/2} + |1\rangle e^{-3i\omega t/2} \right]$$

$$= \frac{1}{2} \frac{1}{\sqrt{2}} \left[\langle 0 | e^{i\omega t/2} \langle 1 | e^{-3i\omega t/2} + \langle 1 | e^{3i\omega t/2} \langle 0 | e^{-i\omega t/2} \right]$$

$$= \frac{1}{2} \frac{1}{\sqrt{2}} \left[e^{-i\omega t} \langle 0 | 1 \rangle + e^{i\omega t} \langle 1 | 0 \rangle \right]$$

$$= \frac{1}{2} \frac{1}{\sqrt{2}} \left[e^{-i\omega t} + e^{i\omega t} \right] = \frac{1}{\sqrt{2}} \cos(\omega t) \quad \checkmark$$

$$3.3 \quad H = \frac{\hbar\omega}{2} (2a^\dagger a + 1)$$

$$\langle H \rangle(t) = \frac{1}{2} \left[\langle 0 | e^{i\omega t/2} + \langle 1 | e^{3i\omega t/2} \right] \frac{\hbar\omega}{2} (2a^\dagger a + 1) \left[|0\rangle e^{-i\omega t/2} + |1\rangle e^{-3i\omega t/2} \right]$$

$$= \frac{1}{4} \hbar\omega \left[\langle 0 | 2a^\dagger a + 1 | 0 \rangle + \langle 1 | 2a^\dagger a + 1 | 1 \rangle \right] =$$

$$= \frac{1}{4} \hbar\omega [1 + 3] = \hbar\omega \quad \text{OK (primäre Energie)}$$

$$4. \quad \hat{H} = \frac{p^2}{2m} + \frac{1}{2} m\omega^2 x^2 - |e| x E$$

$$= \hbar\omega \pm \frac{1}{2} \hbar\omega \sqrt{1 + \frac{2|e|^2 E^2}{m^2 \omega^2 \hbar}}$$

$$\hat{H} = \frac{p^2}{2m} + \frac{1}{2} m\omega^2 \left(x^2 - \frac{2|e|E}{m\omega^2} x \right)$$

$$= \hbar\omega \pm \frac{1}{2} \hbar\omega \left(1 + \frac{2|e|^2 E^2}{m^2 \omega^2 \hbar} \right)$$

$$* A = 1$$

$$2AB = \frac{2|e|E}{m\omega^2}$$

$$B = \frac{|e|E}{m\omega^2}$$

$$\hat{H} = \frac{p^2}{2m} + \frac{1}{2} m\omega^2 \left(x - \frac{|e|E}{m\omega^2} \right)^2 - \frac{1}{2} m\omega^2 \frac{|e|^2 E^2}{m^2 \omega^4} \rightarrow -\frac{1}{2} \frac{|e|^2 E^2}{m\omega^2}$$

$$H = \begin{pmatrix} \hbar\omega/2 & -|e|E \frac{1}{\sqrt{2}} \\ -\frac{|e|E}{\sqrt{2}} & 3\hbar\omega/2 \end{pmatrix} \quad |H - \lambda I|_{2 \times 2} = \left(\frac{\hbar\omega}{2} - \lambda \right) \left(\frac{3}{2} \hbar\omega - \lambda \right) - \frac{|e|^2 E^2}{2}$$

$$= \lambda^2 - 2\hbar\omega\lambda + \frac{3}{4} \hbar^2 \omega^2 - \frac{|e|^2 E^2}{2}$$

$$\Delta D = 4\hbar^2 \omega^2 - 4 \left(\frac{3}{4} \hbar^2 \omega^2 - \frac{|e|^2 E^2}{2} \right) = \left(\hbar^2 \omega^2 - 3\hbar^2 \omega^2 + 2|e|^2 E^2 \right)$$

$$\Delta_{1/2} = \frac{2\hbar\omega \pm \sqrt{\hbar^2 \omega^2 + 2|e|^2 E^2}}{2} = \hbar\omega \pm \frac{1}{2} \sqrt{\hbar^2 \omega^2 + \frac{2|e|^2 E^2 \hbar}{m^2 \omega^2}} = \hbar\omega \pm \frac{1}{2} \hbar\omega$$